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2021 ‘
(Held in 2022)

GEOGRAPHY
(Honours Generic/ Regular)
. Full Marks : 60
Time : Three hours

- The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

Paper : GGY-HG-RC-1016
( Physical Geography )
( 2hFlew woaer ) -

1. Select the correct answef : 1x7=7

w7 TR B Sl ¢

(a) Ultraviolet rays of the sun are absorbed
by -

TR afe-RegTR R ciifie =
" (i) stratosphere

CEB’W(@

Contd.



()

(9)

(ii) . ionosphere
A LTS
(iii ozonosphere
S GANGTS
(iv) exosphére
FEene
The temperature of NIFE layer is about

Rtz o391 Tao =

i) 1000°C :
Sooo f&f (53

() 2000°C

000 Rl 53
. @iii) 2500°C
~ 3eoo fEfd B2

(iv) 3000°C -
~wooo ffd (52

Doldrum is a belt of

TG T ,

(i) Calm condition of winds with low
pressure - -
ot s m g ol

(i) Unstable  condition with high
pressure
TEHI9R WG IES] w
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(@)

fe)
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(i) Thunderstorm with hghtnmg
Regent oeli| o

" (iv) None of the above

. GG OIS T

Chemical weathenng is actlve mamly

‘in the

TR Rpitew re: T =
(i) - glaciated region
IR wiese
(i) arid region
TF GO |
(iii) karst region .
e SwETS
(iv) None of the above -
SHAIE H8 T

Sedimentary rocks are mamly made. up
of weathered remains of

cit PP 197 2 euine Rpfive swRe
(i)  basalt
(ii)  metamorphic récks
- SRR e e[
(iii) humas
Bk
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(iv) igneous rocks

e Rt @ (@) What do you mean by precxp1tatlon ?

(). A deep and narrow river valley is called ! SCATFAY {F‘Cﬁ & e
PR : i X mmmmmr
(ii) V-éhaped valley . (iv) What is ocean current ?
V-Sigfed Teier ; TN Gire Wi e

(9 Temperature and precipitation were the 3.

Writé sh 't n . :
basic features of climatic classification lort notes on: {any three)

as given by - - 5x3=15
TR, ETNRCEAS SIFI Si% SACFHIF O R o v i 3
= fofs sRfe= . fi) Scope of physical geography
(i) Trewartha - APREF ool =i
‘ GafiR ‘ , . o (i) - Hydrological cycle
(ii) Tllomthwaite S o : - R |
(i) Koppen . - (i) Vertical structure of atmosphere
LS | TN THES Ao
(iv) None of the above ~ (iv} Weathering and erosion
GG BIe T | Refew we wiewm
2. Write short answer : : 2x4=8 4 Ansv&r.er any three of the following
Ww ﬁi‘" 3 ' - | ) questions : - 10x3=30
() What do you mean by monsoon | O e e o ¢ (ﬁzww )
climate ? | - (i} Describe Koppen'’s chmatlc classification.
Gt ey, I & 3@ - | 10
| | mmmmma@wn. .
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(ll)

(iii)

()

Describe the ocean bottom relief
features with diagram. 7+3=10

TSI SRR SREPER I |

What do you mean by normal cycle of
erosion ? Write the land features
developed in different stages of normal
cycle of erosion. 3+7=10

WW{%@%W?WW
FIoiRT TIPS B FRI B-ARRe I A -

Discuss the source and distribution of
monsoon wind. 5+5=10

mﬁw%mmﬁmqwmw
el

3 (Sem-1/CBCS) GGY HG/RC/G 6

. GGY-HG-1026

(Honours Generic) ..

Paper

(Geography of Tourism)
'Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x7=7
oo R ot S Twe o ¢
(a) Who was the first forelgner to v151t
India ?
- RS TR g AN o) A5 o
R iR 2
() Hiuen Tsang
fi%tilﬂ PR
. {iij) . Megasthenes
coifRR
fiii) Fa-Hien
- wREw
(iv) Marco Polo-
T A ,
. (Choose the correct answer)
(o7 Tews AR Blered)
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(b}

(©

(@)

Which oﬁe of the following ié not an
example of festival of Assam ?
OFR (Bl SR TR Wﬁ e

i) Kherai
N 1
(ij Narali Pournima
e offf '
(i) Hamjhar
PR
(iv) Nimso kerung
e @ S
(Choose the correct answer)
(% Cehr AR Tlsam)
is called ‘cultural capital’ of
- Assam '
TR TR WWW @t = |
(i) Tezpur
: ST R
(i) . Nalbari
B
(iti)  Jorhat
AR
(iv) Pathsala
AT .
(Choose the correct answer)
- (o5 Tewh! AR Teea)
What is the full form of ATDC ?.
ATDC 3 7= FI(h! 2
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e)

is the ‘tea capital’ of India.

o OREE< R WY |
il Tinsukia '

g
(i) Darjecling

wiferteR
(iii} Assam

Sy
(iv) Sivasagar
- s

| (Choose the correct answer)

(o5 Cevnr AR Bfveay)
Chitralekha Park is located at

- o T © SRS |
"~ (i) Shillong :
' ITEN
(i) Manipur
' (iii) Tezpur
AR
{iv) Charaideu
BRIBHS
(Choose the. correct answer)
(o Tewhr AR Bled)

3 (Sem-1/CBCS) GGY HG/RC/G 9 ' Contd.



{9) Deépar Beel is located at

Woe [Re © SRFe|
i) Jorhat - '
(i) Diphu
(iiij} Dibrugarh
g
fiv) Guwahati
«3IZo

(Choose the correct answer)»

(&% ey R BfFea)

Answer the following questlons in very short :

2x4=8

WWW@WW.Ws

(a) Name two geographical components of -

()

(c)

: @

tourism. -

6T 757 S ol 1 iR
Which one is the smallest National Park
in India and where is it located ? -
SR FTed AT S QIR S RS
CRIZS ?

Name two challenges of medical
" tourism.

R s foma Z«’:‘?‘WWWI

Name two nhew tourism schemes in:

India.

SRR 73 g ~6R Si5T  Tiw < |
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Write short notes on the followmg (any
three) 5x3=15

IS T =¥ SO ol ¢ (Rieweieat foiaion)
(a) Cultural Tourism

AFSF o6

() Raimona National Park

W T T

. {¢) Tribes of Assam

TR SRS

(d) Chapanala Falls
 BleREl TS
{e)- Sri Suryya Hill

énatfvfm‘

Answer any three questions from the
following : 10x3=30

‘ﬁm@mmwﬁmmﬁﬁmww

(a) What is nature tourism ? Discuss 1t§

advantages and disadvantages. ‘
2+8=10

Wﬂﬁaﬁ?maﬁmmﬁm
S T

(b) Analyse the factors that contrlbuted to
the slow tourism development in North-

East India. - ‘ 10
TER-97 TSI TFF B GHINO WF@ !
- GO FIRFTR Rewwe 4 |
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(c) What is sustainable tourism ? What

are the ways to promote sustainable
. tourism ? 3+7=10

T A5 5 o I A TR T

& e

(d) Explain the significance of the New

Tourism Policy, 2020 in Indian

economy. 10
@ﬁ@aw@ﬁa—a@ 1B S 2030 T %Y
[T AL - -

e} How does tourism affect. the

environment ? Illustrate with example.

10

R b R ef@tﬁs I ? TR
ST F40 | '

(/ What is hill resort ? Elucidate the future

prospect of hill resort in Assam tourism.’
2+48=10

%ﬁﬁﬁﬁi?ﬂﬁﬂﬂﬁ%%ﬁﬁﬁ@fiﬂ@

TR R =
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" Paper : GGY-HG-1026
(Old Syllabus)
( Honours Generic)
. ( Disaster Management )
Full Marks : 60
. Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

n

1. Answer the following questions : - 1x7=7
| OO EPTAINT e fi e

(¢) Name the earthquake measuring

instrument. .
iRt (oIt TFBIR TN B

(b) What is greenhouse gas ? -
Ciw 94z (o e

() What is soil erosion ?
wirsn e

(d)- Mention the causes of tsunami.
I, cgaia iR el | |

(e) Give the definition of disaster.
wedisie wiceat faat
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(? What do you understand by balanced
€cosystem ? '

RRfoem STl {ﬁa CEC 3@l
(9 Give the concept of vulnerability.
G S A LA il o

Mention two reasons of water pollution.

ﬁmf&‘rmqmwu

What is disaster management ? 2.

Tist Trgom I e

Give two reasons of landshde ‘ 2

SRryewa 757 s fa

What are the causes of drought ? 2
RWR IGRW AR R B2 -

erte short notes on : {any three) 5x3=15
Y GOt o 2 (Rt ey

() Distinguish between hazard and

disaster.
Rera wIRe o oty ot

- (i)’ Write a note on the measures that
should be adopted during and after
disaster for its management.

TS 1Z RIS W= 12 (ARK 5o amm skq

@il JREPTR R oo ot )
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(iii) Explain the physical factors of
earthquake.

'gﬁmzf@f.‘wmaﬁmn

(iv) Explain briefly the causes of
desertification ?

TRI PRI S It 2 |

(v)' Write a note-, on National Disaster
Management Authority. "

@Wﬁﬁwwéﬂwﬁamaﬁ (Bt ot |

What is flood ? Explain flood as a hazard in
Assam along with its causes of occurrence.

: 2+8=10
mﬁ%ewmﬁﬁﬂzﬁa (A PRUAR

I =i

Or/ W

What is landslide' ? Mention the measures |
that 'should be adopted- during and "after

the occurrence of landslide. . 2+8=10 -
iy e gt 2 Aiwits @ie e s .
TR ot YRR Ry 3z '

Define-global warming. Explam the causes
and effects of global warming in detail.
2+8=10

cmﬁa%@ﬂqf%ﬂ\wﬁmncwwﬁm‘
T TR TR S RIS w4 |
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Cr/ G4ql

. What are the major hazards and disasters
- in North-East India ? Discuss how to
mitigate hazard and disasters at different

- levels. ' . 4+6=10

 ToR-oR oRee (R iR el e Rerfaar &
e Rorfn o= fior e Jagesd Riew o=
o =91 = 3l =

9. What is man-made hazard ? Write a note
on the causes of man-made hazard and its
effects in global context. : 2+8=10

TR 38 qedist 1 wie 8 o SRIRRR [REw
R «jfdin [(fen swae @t [R aorR Rew
i == : ,
' Or/92qt

Explain the causes of earthquake in detail.
Write a note on North-East Indian region as

an earthquake-prone area. 3+7=10
BRET FIRATRIT I I3 | SFRT=v|-oRe wiea Zpi

TeR-ofg- ST R @Bt (R B
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